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EXERCISE XII.

(1. ) Factors are (x+ 1)'^ (x - 2), .•. other factor x-2.

(2.) . (3.) . (4.) =400 gallons.

(5.) ^^ (C.) 2x^-7x-3.

(7
. ) (^- + 2+ 2a - '(/) (x + 2 - 2a+ y). (8.) y= 1.

(9.) !8!7r)2.

(10.) Write expression x* + Mx"^ + 729 + 6x(x'' + 27) -

27.'y^ - {x' + 21f + ^x{x' + 27) + 9x^ - 3(u-^ = (.^^+
27 + 3x)'' - (6.>3)^= {x'+ 9x + 27) (x* - 3x + 27).
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EXERCISE XIII.

Page 47. (1.) 4(2x^ - 1) (2x^ - 3x - 1). (2.)

(4.) u;(3x + 4)(x-6). (5.) G4 miles.

(7. ) (6x + 1) (3x + 2) (3x+ 4) (2x - 1).

(8.) a*-bnH)c. + l^lf-c\

(9.)
4a:-'-15a;+13

(10.)

. (3.) ar= 3.

(6.) «">-!.

65c.

EXERCISE XIV.

(1.) 2x^ - 5x + 1. (2.) 9(a + 2x) {a - 2x) (2a - x)\

(3. ) 20 cattle. (4.) (x - a) (x - l^. (5.) (i/+ y) (x - y).

(6.) h. (7.) Ai)ply^4:«''^*«-;«' + «(2'^-3c) + (26-3c)='.

/a \ 2+3a;

L+5a;
(9.) H-/-+ ,2_,^_,. ^2. (10.) 3ai
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EXERCISE XV.

(2.) (x + l)(x-l)(x + a+ l)(x + a-l).
m~y

(3.) (a + ?>)(<^-'+ a/> +n (4.) . (6.) ^^

(0.) The denominator =^{ac + h(iy+ {ad-hc>)\ which is

greater than the numerator, etc.

(7.) !/* + 2//=' + 3!y'^+ 2/; + l. (8.) {x+p) {^+m+ n).

(9.) 14,17,20. (10.) Apply difference of squares, etc.


